ﬂ&k KUNAU IMPLEMENT COMPANY  casesir

7 2114 270th Ave., Box 228
DeWitt, IA 52742

IMPLEMENT Phone 563.659.2866 o
PRESTON - DEWITT www. kunauimplement.com Gw%glzi# Kuhota
SOLD TO SHIP TO

C02854 INTERNAL

Tax D Qty Description ----------eoccmmmmmme -~ * Amount

Group: 01

NOTE

FEEDERHOUSE CHAIN QUIT TURNING

*REPAIRS PERFORMED*

FEEDERHOUSE UPPER SPROCKET SPLINES

STRIPPED OUT ‘ ‘

REMOVED: FEEDER GEARBOX, FEEDERHOUSE"

MIDDLE FLOOR SECTION, FEEDER CHAIN,

SPROCKET, ROCK TRAP BEATER AND

STRIPPER PLATES

DISASSEMBLED FEEDER GEARBOX, REPLACED

SPLINED SHAFTS ON QUTPUT SIbE, BEARING,

SEALS AND INSTALLED BRUSH KIT AND -

REPLACED OIL

LAZER LINED AND SHIMED FEEDER GEARBOX

REPLACED FEEDER DRIVE SPROCKET, ROCK

"TRAP BEATER,  STRIPPER PLATES, POLY CHAIN

WEAR STRIPS, FEEDER PIVOT SEAL

THAT "WAS LEAKING AND FEEDER CHAIN

REASSEMBLED FEEDER HOUSE

UNIT RAN GOOD

SHOP PTS NON-TA
N 1 CAS 48106916 KIT OT-006 2450.00 2450.00
N 1 CAS 47994531 BEATER OT-073 2210.00 2210.00
N 1 CAS 48067479 SHAFT B-182 465.00 465.00
N 1 CAS 48067478 SHAFT B-182 640,00 640.00
N 4 CAS 84312857 BEARING, BA 6509-1 42.00 168.00
N 2 CAS 87612665 SEAL V-13305 29.00 58.00
N 1 CAS 87345122 O-RING G-008 31.00 31.00
N 4 CAS 86638209 STRIP 3080 23.00 92.00
N 1 CAS 84179639 CHAIN (AGRI OT-032 1640.00 1640.00
N 1 CAS 84163120 BRACKET 2032 -8.,75 8.75
N 4 CAS 84257096 LINK, CONNE I-2000 29.00 116.00
N 1 CAS 47532657 KIT, SERVIC 2230 97.00 97.00
N 2 CAS 86995212 HOUéING, BE 6530 127.00 254.00
N 1 CAS 87533210 SEAL MU-005 45 .25 45 .25
N 5 CAS 14442134 SCREW V-15808 ..85 4.25
N 5 IMP 15681 ‘M8 FLANGE N - BOLT-30 .11 .55
N 2 CAS 87282006 GUARD -242 16.00 32.00
N 8 DAY 3/4WR BUSHING END-20 .85 6.80
N 1 CAS 80299 WSH V-12673 .31 .31
A service charge of 1.5% per month (18% annual) will be charged on past due accounts.

PAY THIS
AMOUNT ’




_ﬂ%__ KUNAU IMPLEMENT COMPANY CASEN)  fwisiis
KU N AU 2114 270th Ave., Box 228
DeWitt, |A 52742

IMPLEMENT Phone 563.659.2866

PRESTON -+ DEWITT www. kunauimplement.com

Gred "’Zl‘ams Kuhota

SOLD TO SHIP TO
C0O2854 INTERNAL

Descrlptlon ——————————————————————————————— * Price

CAS 86639326 . WASHER ~ - V-12509
NHO 394631 ~  WASHER v-11219

N
[V)
Y
g
o)
e,
l<
i
=3
0
c
5
t

 M10X30MM = BOLT
'M10 NUT BOLT-34 .
WASHER,BELL  V-16008 i
'M8X20MM 10, BOLT-46
M10 NUT BOLT-34

~ M10X1. 25x3o, METRIC = .
~.DIESEL ANTI US-1020 = = 21.
~ WASHER, LOC V-16008 o
SO WASHER L I LOG T 'VE16008 0 e o
28  FLUID, AYTRA BULK OIL 15.90 15,
Thmnsen i %% TOTAL SHOP PTS NON-TA = 8373.

""" oo ... ... %% TOTAL INT LABOR NT - /2596.

(63

&
L L
memmwmmﬁﬁ

Boaunow®
N

:Heméwwm»wwpp
| H

=

=

jZZZZzzZZZZzz
s
=
WNQQQHHHFHH
SWNNWH NN U
= WNNNRPESRFPOR

i,‘PWENQ)I—'(ﬂmOU'I\l
NS0 TN

W JONOUINANHB OO
01 ROk OoAUIOROOOUIO

A service charge of 1.5% per month (18% annual) will be charged on past due accounts.

** SUBTOTAL 10970.06

X Charge Sale

PAY THIS
AMOUNT ’

$10970.06






